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R ma | BT e | B2 | e | o e | B2 | BT e | B2 | TR | & |
1 100kN/m##8% % 1.00{0.00 ~ 1.20 118.14| 3m%x#B 25 ol ~ = = —| 100kN/mM%#BZ % 1.00| 13.82 ~ 2454 118.14| 3m%x#B 25 =l ~ - - =
s 1.00{1.20 ~ 8.99 100.00f Zhkl4t |0.00 ~ 8.99| 2.34 12.54 s 1.00f 500 ~ 13.82 100.00f Zhlst | 5.00 ~ 2454| 2.34 12.54
3 100kN/m##8 %% 1.00{ 0.00 ~ 3.00 147.75| 3m%x#B2 5 ol ~ = = —| 100kN/mM%#8Z % 1.00{ 10.62 ~ 29.30 147.75| 3m%x#B 25 =l ~ - - =
s 1.00{ 3.00 ~ 10.79 100.00f Z=hki4t | 0.00 ~ 10.79] 2.96 15.85 s 1.00f 5.00 ~ 10.62 100.00f Zhlst | 5.00 ~ 29.30| 2.96 15.85
4 100kN/m##8 %% 1.00{ 0.00 ~ 298 147.38| 3m%x#B2 5 ol ~ = = —| 100kN/mM%#2Z % 1.00{ 10.58 ~ 28.10 147.38| 3m%x{B 25 =l ~ - - =
s 1.00{2.98 ~ 10.77 100.00f Z=hkist+ | 0.00 ~ 10.77| 2.98 15.95 s 1.00f 5.00 ~ 10.58 100.00f Z=hl4t+ | 5.00 ~ 28.10f 2.98 15.95
5 100kN/m##8 %% 1.00{0.00 ~ 2.50 139.15| 3m%x#B 25 ol ~ = = —| 100kN/mM%#2Z % 1.00{ 10.83 ~ 24.71 139.15| 3m%x#B 25 =l ~ - - =
s 1.00{ 2.50 ~ 10.28 100.00f Z=hki4t | 0.00 ~ 10.28] 2.57 13.75 s 1.00f 5.00 ~ 10.83 100.00f Zhlst | 5.00 ~ 2471 2.57 13.75
6 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
s 1.00{0.00 ~ 749 95.70| Z#h L4t | 0.00 ~ 7.49| 2.06 11.03 s 1.00f 5.00 ~ 10.10 95.70f #hLl4t | 5.00 ~ 10.10[ 2.06 11.03
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ FhLst ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
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